1 HifE

068

72U (BR)

%Y D M
BE LT e B
H % %

Ol

AN

e

KK 20 a, F—/ L RO 20 a7 R) | F— b R4S 20 a (FEHD) | BTHUR 20a, EFK 20 a, KAEB0a

2.5N

A — RAFL—F, FEHa—2 V127 FoF 45, Wi, ELEEERAFHT 5,

2 {EfHAR

IR A 1 2 3 4 5 6 7 ) 9 10 11 12
RN —AAANANNN & ©00O 000
HAE e ey NI I
FLB) - — R, ATAE., OfE. O80T, DIvHE
3 sk L R= (1—F(FEE) (A7 - 1)
[AIFH AVEH| AHmEE B3R W FEREER et [HoBENBOEAR
[ | HEIERE /) = Busfmgs (B (B) 15[ (D) figa (F) [&] Al Fl +
4 (A) XR ©)[B)+ (C) E) (W) -D) X E)]  6)  |oxexprs
=27 ArE 50 i 3, 300, 000 13 440, 000 440, 000 | 15 29, 333 8 205, 333 100 | 8,213
S LR e g Ab-h 5.71 m 377, 143 13 50, 286 50, 286 | 24 2, 095 12 25, 143 100 1, 006
72 L BRAESRAR 100 a 12, 927, 300 20 | 2,585,460 | 2,585,460 | 14 184, 676 7 | 1,292,729 100 | 51,709
N7 H 25PS  4WD 1 A 1, 522, 950 13 203, 060 203,060 | 7 29, 009 4 87, 026 20 696
n—X 1) — 5 160cm 1 A 353, 100 13 47, 080 47,080 | 7 6, 726 4 20, 177 20 161
G — % U —  |ima2enx i ss5~asen 0.14 & 94, 094 20 18, 819 18,819 [ 7 2, 688 4 8, 065 20 65
Ak =0 A7 V=Y (FES7]10000 4R 0.14 & 1, 254, 792 20 250, 958 250,958 | 7 35, 851 4 107, 554 20 860
FEHET 18PS .00 & 858, 000 20 171, 600 171,600 | 7 24,514 4 73, 543 100 2,942
) i 6.3PS 500k g 1 & 763, 400 20 152, 680 152,680 | 7 21,811 4 65, 434 100 2,617
BrI7v7 600cc 1 A 1, 200, 000 13 160, 000 160,000 [ 4 40, 000 2 80, 000 100 3, 200
7o Ut B 20 a 735,216 | 100 735, 216 735,216 | 26 28, 278 13 367, 602 100 | 14, 704
ait 23, 385, 995 4,815,159 | 4,815, 159 404, 982 2,332, 607 86, 174




4 BREOHIM
(10a247-0 : [ - B[

| HHT2EME ] FHE [Hm - I 4 B (AR @R
AR 40 | 1,872 |MEd & 74, 880
S EAT, HEARSE AL 13, 650
1A | R -5 = 87, 833
A BN AR 16, 202
it 192, 565 192, 565 63
mA
S EAT, HEARSE e 5, 592
2 A |G RS -5 = 21, 363
A BN MR 54,112
LA 0
it 81,067 | 273,632 75
mA
S EAT, HEARSE L 29, 797
3 A |G RS -5 = 38, 441
A R MR 56, 938
RFEIA 31, 200
it 93,976 | 367, 608 84




5  HeAliAR (10a M720)
£ & i i FoerrpraA - ERL 10a 470 I E [ESE B s Ve ifi A%
L (&S T 3, 000kg | P40 ~FRfE A 20a
HH MO K % e JE %
10a4 72 Y {E3ERERY Ok
VeI fif A 4 fif e =7 z4 VESENS I OV 5 1 A | AR | M | TR
== U1 /41~ J1/40) JHEE [ANB | B [ | Gz10a)
Hp T 12/ b~3/F  |#%5| FH#E 2042 JE O 3ARERNBERL, 1.0 1 77.2 (17 1.0
IO B 3K X Br7 w7 0.5 1
BT S A 0.2T 11
ST EYE 0.27T
b7V AN =Ab kg
it e 9/ k~6/ L |EEALRL 60kg OfFEf%EFRaE  17. 6kg 6.4
HHEB S 160kg O [RE R 25. 3kg
ORI & 9. Tkg
g%k BO(1o/h~11/F [RE AR 60kg T OWEHE 2.0 1 19.4 |77 1.0
Vg3 100kg s il 4.0 1
LB AL 1000kg Br7 w7 0.5 1
HAEE B (4 E~10/F [T kT o7 500m1 FEHET OFHET TOHAM Y 5.0 1 6.0 [1" /)y 5.0
BhAETRE  |OBREAI O A,
i 2 5/ L~5/  [HERITS A 0.5T AT O7 Atk EiFfiR %3 5, 40.7
®OH T 6/H~6/TF |ILD&AbERE 10,0004% | A 63.6
Ny Nr—2A 2 i
o E R |4/ E~8/F  [#5I0b 3K X N 8.9
%7 B |a~11 N=N" AN 3.5L AL =h 27—y 2.8 2 6.4 [#&7H 56.0
MFE K Fngl 437g
7778777 350ml
T Vw7 350m1
M9y ATnT 7" v 1800m1
7= 7K Rl 250g
TI=7u77" W 250m1
TN )y B 7K P A 250g
N7 VY AN 666ml
b7V MK A 333g
HHEERTnT7 W 2000m1
77" w=h K R0l 500g
LIV A 250m1
V47K Fa#I40 1, 000g
NNFTRTT 250m1
Fxy7/ KRl 1, 666g
AT LA 333ml
FI7WDG 250g
7V zy7 4 CARFNFA 625¢
B zay) ey 7 v 250m1
EAL 7/ PERIK A A 125¢
Fhap7e77” V10 100m1
A=A K FnI80 625¢
I AAVAI VAN 250m1
Abut” =} 7470777 W 166g
BATY )UK R34 500g
KA ) kAR 333¢
7 7/7m7 500m1
ry T UMR—Z M1ke) 1ke
SYURTYIRyHRO—F 500ml
/ANEE 228. 6




ik R
HAH BEORE O % [N
1024 7= 0 VEZERER Bk
YEEME &M 4 7 ) & VEZERA VESERGE L OV 1k MR | f0L | ZES5 @) H# &
=24 (A /fi~H /M) R (AR B R | (2/10a)
I fE  |9H E~9AF T OB~ 6.4 1 35.0 |57V 6.4
(VY 4.8 1
Iy 27.9
x O fh i 13NV 9.6 1 19.6 (1" V0v 21.1
3 283.2

jabs
1




6 EEME (10a%720)
X4y A S B |
FEEMEES 1, 560, 000 ApERED ;3,000 kg HAH® : 520 M. kg
HHI AR FEY M 0 AEpEE Bl
FPE AR 0 AEpE Bl
B EEW B @ 0
i (4) 1, 560, 000
o 0
ok % 59,591 |f M S IXBAIARO LBV
EPEL (R K 96, 108 "
WM OB # 108, 682 "
4 CUpab 1t ¢ 22, 888
AR # 23,679 |HAk SLEALEE X 4 %
R 15,379 |4 - WEE SLHATEE X 1 %
& BB & 0
B O 8, 888
A = 5,014
PE WU E R © 202,491 |BIEDOEBY
LR 12, 397
SCHHAR® 0
N B 555, 116
W B — | AT A 106, 710
L W o7e 7 & 377, 244
# FHRLA A 2,940 |FRUIRERA:, FMOEL, [ EE PER
HHHHER 4,165 |FEEEHTHMEGOEE, BEER
SHFIED 1,783 [fEANEAF 2 %
/NEE (0 492, 842
oo (D) 1, 047, 958 H) D = B) + (0
FITT B LR 369,070 |F2 §€ 7 f8) W5 B :  277.8 AEFEEELSBM 0 6.1 1,300 9, /K5R
SCHLRF - MR AR RERY (B) | 1,417,028 [EREMIHALY 2D 472 1,/ 1kg E (B) = (D) +@-@
HOBEA |[MBEARNTO 24, 255 ) @= (B)—0—®@) /2 X0.04
FlF(F) ] 7 ¥ AF 43,087 |FFHR 4%
B OE i oH MR (G) 17,000
PR AFER (1) 1,501, 370 |A=EMHNL 2 7= 1) 500 F, 1kg m) M = (E) + (F) + (6)
BT (e (D 512,042 |FFRI47-0 1,804 H ) (D = @) - D
(I S @) 33 I () = (D + (4) X100
Jre A R X) 58, 630 ) K =@- (H)
FR T B (L) 427,700 |RFRI47-0 1,507 H W L) = (D - F) - (©)
JR AT ) 142, 972 ) = (1 -®




7 JrBOYESERI RIBIELSY (1024 72 D) R

H -4 1H 2H 3H 4H 5H 6 H 7H 8H 9H 10H 114 12H

[(E24 E Gl T i h T E Gl T E h T E il T E h T E il T E h T E il T E il T 1S il T E il T i
b - WATE 6.2 80| 80| 80| 80| 80| 80| 3.5| 3.5 8.0 8.0 7.
pas) 0.4 | 0.4 0.4 0.4 0.4 | 0.4 2.0 2.0 6.
TR 3.0 35| 35| 35| 35| 2.4 19.
A 1.0 1.0 Lo 1.0 Lo Lo 6.
0.
FIES 11.0 29.7 40.
AR 35.3 | 28.3 63.
HTRY 1.6 1.3 1.5 1.5 1.5 1.5 8.
153 0.4 0.4 0.4] 04| 04| 04| 0.4] 0.4 0.4 0.4 04| 04| 04| 0.4 0.4 0.4 6.
I 10.0 | 25.0 35.
ZOfhE 0.2 o2 02| 02| 02| 02| 02| 02| 7| 02| 02| 07| 02| 02| 07| 02| 02| 07| 03| 02| 22| 03| 2| 07| 02| 02| 07| 07| L3| 02| 02| 02| 02| 27| 03| L2 19.
it 6.4 82| 82| 82| 82| 86| 86| 3.7| 56|13.2] 2.3(31.8| 0.6 06| 1L.1| 35[355[30.9| 17| 51| 26| 3.2| 1L6|1L.1[2.2] 06| 25| 07| 48| 57| 47| 57| 26| 27| 83| 9.2 283

A EAE FR S (BN 6.1




